GEOP 501
Fall 2006
Homework assignment # 3
 (Due date: 5/12/2006)

1. Given Figure 1 of an SWD survey.  Figure (1-b) shows the record of the pilot receiver while Figure (1-c) shows the record from a surface geophone:
(a) What do the events PD and GD correspond?  Why do they start at T = 0 s?
(b) Events PM and GM represent the same reflection.  Why do they have different times on both sections?
(c) Is the drillbit approaching event PM?

(d) Calculate the velocity from the drillbit to the reflector generating event PM.
(e) Calculate the distance from the drillbit to the reflector generating event PM when the string length is 1250 m.

(f) Calculate the velocity from the drillbit to the reflector generating event G.

(g) Calculate the distance from the drillbit to the reflector generating event G when the string length is 1240 m.

2. Given Figure 2 of a crosshole survey, where D-P and D-S indicate the direct P-wave and S-wave, respectively.

(a) Calculate the average P-wave velocity between the holes.
(b) Calculate the average S-wave velocity between the holes.

(c) Calculate the hole separation using the P-wave velocity and times.

(d) Calculate the hole separation using the S-wave velocity and times.

(e) Calculate the average Poisson’s ratio for the rocks between the holes.
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Figure 2
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